FBE 524 Take-Home Midterm Examination – October 12, 2005 

A  N  S  W  E  R  S  [SUGGESTED, NOT THE ONLY ALTERNATIVE]
1. What does it mean to be a commercial bank in technical legal and regulatory terms?  Why would a company choose to be a commercial bank rather than some other type of financial service firm?  Are bank holding companies treated differently than other holding companies?  If yes, in what different ways are they treated by whom?  If no, describe how banks and non-banks are treated the same.  Contrast banks’ treatment under current law and before the GLB Act.  [Be very explicit on each point.]
Note emphasis on technical legal and regulatory: 
Banks are chartered deposit-taking institutions; a corporation cannot take deposits unless it has a bank or other deposit-taking charter from a state or the federal government; (b) By choosing to be a bank, a corporation can accept deposit liabilities, including deposits insured by the FDIC having the implicit guarantee of the U. S. government, hence their interest cost is very low, not much more than the Treasury rate; also, banks have access to the clearing system and other benefits of participating in the transactions processing system; finally, banks can currently affiliate with other types of financial firms like brokers and insurance companies; (c) Bank holding companies cannot acquire just any kind of firm: they are prevented from owning commercial firms (separation of banking and commerce) and acquisitions have to be approved by the Federal Reserve Board; prior to 1999, any acquisition had to be “closely related to banking” categories like finance and leasing companies; (d) after GLB, banks holding companies were re-designated “financial holding companies” and could affiliate with insurance companies, securities firms, and other previously disallowed financial firm acquisitions, but banking and commerce will still prohibited.  The traditional regulators still reviewed each business segment, however, increasing the number of regulators FHCs had to deal with. 
2. Use the “Balance Sheet of Households and Nonprofit Organizations” from the 1995-2004 Flow of Funds (distributed in class) in answering this question.  What has been happening to banks’ share of household assets over the last ten years?  Is this is recent trend or, if not, when did it begin?  What types of assets have taken banks’ share from household savings?  Focus on the largest developments and provide an explanation for these developments in terms of the evolution of financial markets, regulation, and taxation.  [Make your points explicit by using data from the source cited.]


(a) In 1995 and 2004, total deposits were around 15% of total household financial assets, but there was some fluctuation over that time period, however transaction deposits accounts steadily declined paying the lowest interest rate, so that higher rate deposits increased over the time period; (b) the diminishing trend of transaction accounts, and bank share of household assets in general, has been a trend at least since the Deregulation Act of 1980, when interest rate ceilings set by regulators on deposits were loosened and then eliminated; since the end of World War II, pension funds and mutual funds have taken an increasing share of household financial assets; (c) while mutual funds and pension funds have stayed constant in 1995 to 2005 at around 10% and 26%, respectively, their dollar growth has been enormous and they have been increasing for decades; (d) the explanation for the decline of bank deposits over the longer term is that interest-rate deregulation has made them less attractive as a source of funds for banks (who securitize many of their assets in the fixed-income market rather than keeping them on their balance sheets), the growth of substitutes for deposits in the form of non-bank deposits and money-market mutual funds, and finally the tax advantages in insurance reserve and pension savings, as well as the large savings of the baby boomers.
3. Many commercial banks have been under earnings pressure in recent months.  What determines a bank’s earnings and how can the interest-rate data from one year ago (reproduced below) and the current interest-rate environment (as reported in Friday’s Wall Street Journal tables) explain these developments?  Given recent interest rate data, what are the prospects for favorable changes for bank earnings in the near future.  [Be very explicit for the theoretical foundation of your reasoning for the last part of this question.]

(a) Bank earnings are determined by their net interest margin (NIM) less allowances for loan losses and their “burden” (non-interest revenue minus non-interest expense); (b) Since banks tend to borrow in the short-term market (deposits) and lend in the longer term market, their earnings are influenced by the yield curve: (c) in the last year, the yield curve has gone from fairly steeply upward sloping to relatively flat, although the exact impact of this will depend on specific banks’ sources and uses of funds; this implies (all else equal) that earnings will be less for typical banks since the short and long rates will be closer to equal; (d) since the term structure is relatively flat, the market apparently expects (using unbiased expectation hypothesis concerning the term structure of interest rates) that short rates will stay high and long rates will not be going up, so the earnings picture so far as NIM goes seems to forecast continued earnings pressure for banks; 
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Given the interest rate data below (from Federal Reserve Release H15), what expectations did the market have a year ago for the real default-risk free rate in the next seven or ten years?  What is the current situation using recent rates from the Wall Street Journal?  What interpretations concerning the general business environment are in line with your assessment?  Provide a detailed explanation for your answers and indicate what assumptions you must make to interpret the data as you do.

(a) One year ago, the market expected the 3-year default-risk free rate (i.e. the Treasury rate) to be around 
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1-month
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, or in other words, expected (under the unbiased expectations hypothesis) rate to go up; in fact, rates on 3-year Treasury did go up to around 4.2%, but longer rates did not change much; (b) given the flattening of the term structure in the last year, the market apparently believes that rates will not change much; (c) nominal rates are the sum of the two factors so rates could stay flat with expected inflation increasing and real rates declining; evidence from the term structure of TIPS suggest that real rates are expected, however, to increase suggesting that expected inflation is falling; this latter interpretation favors continuing strong business conditions with falling inflation.
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